ZEREAP SL.17S180
Clamps 3£ £, Issue:01

Upper bracket
S BR A

Installation Tools 2% T. E.

=0

24 mm combination wrench(2PCS)
18 mm combination wrench(2PCS)
16 mm combination wrench(2PCS)
10 mm combination wrench(2PCS)

PIHRT

Step 1: Assemble the bracket
F—L: HEZHE

Step 2: Install the bracket
BIL: REXE

Lower bracket

FCRAL

Inclinometer fi§i f1X

M314-5% B (Attachment list)

7S AIZHBolt GB5783 M16X 140

N2k Bolt GB5783 M12 X 180

7N i 44 Bolt GB5783 M12 X130

I [R 3k 77 #IME 2 Bolt GB14-88
M10 X 35

1
4
3
7S FIZHBolt GB5783 M10X 25 8
2
3

12 BENut GB41-86 M16

IZRENut GB41-86 M12 21

IZEENut GB41-86 M10 10

AN f 2 BENut GB6170-86 M6 16

BN FAIB 42 Screw GB5782-86
M6 X 40

SE#4 Flat washer GB95-85 16 3

5% 258  Spring washer GB93-87 16 3

“F-#4 P8 Flat washer GB95-85 12 13

i 28| Spring washer GB93-87 12 13

F-#4JE|Flat washer GB95-85 10 10
B Spring washer GB93-87 10 10
V-4l Flat washer GB95-85 6 8
P E L Spring washer GB93-87 6 8
SEHE R Clamping plate HC/T-053604 4
2
1
1
1

% Arm HC/T-053605A

¥ HiSupport HC/T-053603A
151 37 JASupport HC/T-053602
Z\ %% /Q235

Appearance of the actual antenna may differ from
the pictures. —— i LLSEVINHE.

Follow the directions shown in the picture to install brackets.

EEASE NS I3 N -2 U

Follow the directions shown
in the picture to install
brackets.

AL v A o N
TR RHEEIRE.




ZRWAAPH SL.17S180

Step 3: Install the antenna Issue:01
F=H: REXRL
Pole diameter Tighten all the
HIFER nuts before lifting
the antenna onto
® 50~®110 the tower. Ensure

the bracket is fully
folded.
ES R AR S
eteo° Eedri
PiR I IS SN

\

FGIRIR 11173914002

Install the Antenna on the pole as shown in the figure.
The same installation method applies to both upper and lower
brackets.

T BTN 35 R ERAEARAT b, S 4R R S 4822 3 07 A ]
Check and tighten all the nuts when the installation is complete.
The operating torques are given in the following figures.

. L
ZHGESE, EREIHT R IR,
The recommended
RS M
M6=9 N-m; M10=36 N-m; M12=62 N-m; M16=154 N-m
<— ]
Step 4: Adjust the mechanical downtilt angle
FEME: TR TR
4 )
Method 1
Preci§e reference Mounting plate
??#ﬁ!ﬂfi; et distance Down tilt angle
(the actual scale SRR | TR A1
prevails) L(mm)

SRR (IR

\ SRS | 120045 0-15°

(" )

Method 2 1600+5 0-12°
Fik2

. After the adjustment is complete, tighten all
Precise measurement

N he nuts.
M e . .
Before adjustment, adjust the TECHEE SRR, 1T RPTHIRE.

inclinometer to the desired downtilt Only qualified personnel are allowed to install

: the antenna.
angle. After adjustment, locate the bead b A s .
in the middle of the inclinometer. R 22 T H B e () 22 2B N LR AE -

AT, R CGR BT R I TR .
WAIE, WU ARIK AT JE .




